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6.

7.

TRt @ wfu-fasde frm?

(1) fox + smgmfa (2) fag + orqefar
(3) fom + orgHfa (@) foa: + armfa
T ¥ w-ur e | fremm @ faem §2
(1) (2) @

(3) F&™ (9) w&T

wfy ¥ fritta wlt wreg Tl ¥7

()W + & = NG

(2) 9% + TG = SWA

(3) HE + ST HEHS

(4) 9% + = wgafd

IS IURT HUEr W  HWatua W 6 w9
wE T ¥?

(1) ‘ svaeff ! wree H ‘o' SuwA R

(2) ‘vate’ seg # “aft’ Sow }1

(3) ‘T v H 6 T R

@) ' Fee v N 'y )
Prefafea ¥ qy= v 2

(1) @t (2) T

3) T (4) ferars

fore ara ¥ faelt gor & wreg T &7

(1) 59 99 1 I Y A §

(2) 38 R S |

(3) FR-9E S TR K 3T AT HES B T
(4) T T T e ¥

frerfafas § § ¥ A # weE Hifwe-
(1) 39F == F ASH E ¢

10.

11.

12.

13.

(2) T AT & TR ik

(3) STIH S |

(@) Yo % wE et w fred g |
awraterd v & Freteafes § & = # i wwm
(1)qamaréaxﬂﬁrﬂ%mww kil

(2) wfidw - wadt

(3) M

(4) YA TR / A

e % fore afiRt % fRR vISR SR WA Ry

e ¥?

(1) Circular
(3) Reminder
Choose the English word for the given word.
T EHTIT

(1) Restricted holiday (2) Casual holiday
(3) National holiday (4) Gazetted holiday
Prefafes ar § famares aEa ?

(1) I B weelt ®

(2) 39 FHEI N @ ¥

(3) TSI S FHH HEH F |

(4) &\ 9€ T 8 T '

(2) Order -
(4) Memorandum

forefafas ¥ yrg - g e ¥

(A) Hfafa (B) 3=

(C) sl (D) THed

(E) &

Hrer fm T e ¥ W I @ A B
() A, CHRD (2) B,C 3R D
(3)C, D3R E (4)B,D 3T E
frefafaa d A ®F ' f v gE T ¥
(1) R - () TR

(3) FCH (4) TR
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15.

16.

17.

18.

19,

20.

21.

fara v A 3 wewdl Wt Wi gen &7

(1) A (2) forereren
(3) g=x (4) ferrm
“yftereor o waTR &
(1) T (2) FHuRg
(3) 88 (4) st
‘S uER FW T T R A & g et o @
FITHT I8 WEN Jogeh §7
(1) s (2) a4
(3) SnfIgE (4) saftiy
frefefeaa wt gafm wifw-

qelt-1 geli-11

E1C 2 1M Tah I
(A) fFet g = SR v () wqeaR
(B) ot am o d & (i) st
(C) e wR-=R I A ¥ (i) wqufy
(D)= & frft wg =t (iv) s

e fafy
e~

(A) @B (©) (D)

(1) i iv iii ii
(2) i iv ii i
3) i ii iii iv
4) i iv i ii
e’ v & for Prefafe § & faei wee §-
(A)Hten (B) Ffew
(C)TF (D) e
(E) ==
e fou Mg e | E I & T HHAC-
(1) A, B3R D (2) B,D &R E
(3) B,C3RE (4) B,C 3R D
‘gftrema’ yree ot faem e §7
(1) =m (2) @m
(3) wre (4) =TH
form TR & wra: qEUE HeATaTHe g ¢
(1) 79 g9 (2) &5
3) fe (4) r=TaE
Preaferfiara # & fare vrsg ¥ srgelf v 76 87
(1) wag (2) diaeR
(3) drornfor (4) SEAT
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23.

24.

25.

26.

27.

28.

29.

T T e WA w7
(1) ¥z ©(2) R
(3) s (4) ToTE
wr-|r Y wfraras w1 ¥7
(1) fomrers (2) T
(3) aferren (4) T
Far g yvAETaE 7
(1) 7% (2) 9%
() (4) a4
g0 gl &1 e R # g it e ¥?
(1) 9raras |3 (2) =4
(3) ferdrm (4) TdTH
fautia a1 w7 ATy FHAX AA V& Tl HEA €7
(1) TatFErH T () foem v
(3) THFGF W (4) THEF M=
ardTa faaneq T oo Fitau-
(1) 7% & &R T - Hrendss i fadrm
. (2) 9% IR-aR SrE | - e R g
() T FR FR F ¥ - Torars fFa fagam
(4) T 3 et # 1 - ifarer o fagrao
T arera # frar g U A T w87
(1) % a1t 7 | @ ¥)
) T I RA AW T
(3) e BeH H g @
(4) T/ IT W R
frafafaa = gafea witag-
-1 -1
(=) (vatgarst)
(A) () W
(B) &4 (ii) ArgET
(C) gt (i) T
- (D)few (iv) i
e~
A) B (© ()
1) v iii i
2 iv i iii i
3) i iii iv i
@ i ii iii iv



30. ‘T v W W, T W@ W s

31.

32.

33.

34.

3s.

36.

3y §-

(1) %wa arg A gfia 78 e

(2) F1H IEFA

(3) faedt ovw =1 5 B

(4) W wwy wW H 30 93 A STt

HITT: ()
WHTT 3SH
‘Please talk to the person concerned’.

In the above sentence, the word ‘concerned’ is-
(1) an adverb (2) an adjective

(3) a verb (4) a noun
............ 3 seenncnnee ANA ..., are friends,
(1) You, he, I (2) 1, you, he
(3) I, you, him (4) You, him, I

Choose the correct form/tense of the verb from
the options below to fill in the blank:
The teacher said that oil (float) on water.
(1) had floated (2) floats
(3) float (4) floated
Choose the correct form of Passive trans-for-
mation of the sentence given :
The President gave him a reward.
(1) A reward was given by him to the President.
(2) He was given by the President, the reward.
(3) He was given the reward by a President.
(4) He was given a reward by the President.
Let the lights be switched on now.
Choose the correct active of the above sentence:
(1) Switched on the lights then,
(2) Let switched on the lights now.
(3) Switch on the lights now.
(4) Switch be the lights now.
Choose the correct indirect speech of the
following from the given options:
He said, '"She was dancing."
(1) He said that she has been dancing.
(2) He said that she is dancing
(3) He said that she had been dancing.
(4) He said that she had danced.

e

38,

39.

40.

42.

43.

44,

45,

. Rajesh is _____ better of the two for this jop,
(1)a (2) most
(3) the (4) more
rose in your garden are beautiful.
(1) an (2) a
(3) no (4) the

Choose the correct interrogative of the I'ollomng
sentence from the given options:

No one likes doing work.

(1) Doesn't anyone like working?

(2) Who wouldn't like working?

(3) Does anyone like doing work?

(4) Does everyone never like doing work?

e Fiferdl @ g2 % o0 v wept
ST §7

(1) Strict Jaws are required to eradicate social eyilg
(2) Strict laws always aim at eradicating social evilg
(3) Liberal laws are required to eradicate social evilg
(4) Complex laws always aim to eradicating social evils

. BT W Wi TR S wEar §-

(1) My brother wants to be a big engineer

(2) My big brother wants to become an engineer
(3) My eclder brother wants to become an engineer
(4) My elder brother is wanting to become an engineer

‘Disbursing Authority’ o fT wft uftwfiss sre

(1) Taator wifyerrdt (2) wifereo wftzr

(3) Taaror sty (4) wfero sifigzri
Trefafaa ¥ & fipw wig = Deputation ¥ Fag
T ¥?

(1) wafaf (2) fafafir-soen

(3) e Hoew (4) srard-fafa
Authority Y& % e Wit vrez 78 §-
(1) wftrR (2) et fagr

(3) AT AR (4) Wiferm

The following Assertive sentence is changed into
Interrogative:

Assertive: Blood is thicker than water. Choose
the correct interrogative sentence.

(1) Is not blood thicker than water?

(2) What is thicker than water?

(3) Is it possible that blood is thicker than water?
(4) Is blood thick or water




47.

49.

51.

52.

uTT: (W)
A= A

. T w1 T2 famm £7

(1) 826 T ) 869 Ft

(3) 970 it (4) 1070 Fesi

oY F A H &@hmmm‘ <m
# el fraa §7 v

() FFIH TR (2) wmeawm 3= yfu &
G)TAETEFHE  (4) T 3w

T 1 Hrar faen sfraw it awi
wafas uTa e 127 v
(1) 2391 (2) foit

(3) FenaTE (4) =t

‘ FEFTECT g1 uT ST §2

() ¥ag, Fm, Femd (2) Fa, w0, 58 F

(3) famét, ot 4 (4) Fgein, wrzi |
Wﬁﬁﬁﬂﬁﬁﬁ?@hﬂmt?
(1) Fiaei (2) SR
(3) oL (4) ==®
HIE T &7 :
(#re) (fem)
(1) TEmT - IHen
(2) wizEEA= S
(3) FIG A - mﬁz-
(4) arena et - &
Heft-1 @ ge-11 = gafem & aar fa faa m™@
F2T A W I W AT FAAC-
qeEt-1 ger-11
( =g afErsEr ) ( rafeafa )
(A) T a9 1. aigany
(B) T@H &Y 2. wAgTe
(C) ars &Y 3. e
(D) HTél &S wPR &G 4. e
Fe:-
(A) (B) ((© (D
(N 3 2 4 1
@ 3 4 1
(3) 4 3 2 1
4 3 4 1 2

53.

5.

56.

57

58.

Protfafas § @ F (9] 99 3 @) 98
e T Y

(1) iy 9y e - foeers

(2) 9 Fret 9y HeW - TWEaE

(3) e vy Tew - wAe

(4) 7 TR TY WEN - A

. e ¥ yarERr 3k Serarg uitads e

=t Tea R =9 gd?
(1) 2010 (2) 2018
(3)2019 (4) 2020
frofafias § @ T & R0 fae ¥ wa W
e & &7
(1) femé (2) ToEHET
@) s (¢) T
= | WE qRfea T8 87
(Tar$ gIT) (vTET)
(1) TERToN 9O g4 7 - SR
(2) e FE S - R
(3) T T A - YR
(4) =t T I e
W-Im@—ilﬁﬁmmmﬁ%ﬁﬁ
T F T ITET T W@ I G-
-1 el
(o) ( o 2 g e
T (wfierw ) ) ergfew wfa-2011
(A) Fhe (1) 1777
(B) T (2) 2187
(C) Wt (3) 2088
(D) et (4) 2431
Be - .
(A) (B) ((©) (D)
(1 4 3 2 1
@ 1 2 3 4
(3) 4 ) 1 3
@ 4 1 3 2

T & way ¥ wm- famwen wd wfaa ¥
(1) ward aAfus s e foen - 3aaq

(2) 9a8 F3 S aen faen - SR

(3) 998 F9 FEE T aren faren - e

(4) Tad e Tga < aren foen - s aqe
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61.
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63.

64.

65.

66.

. TTSTYAT UHH st o — ¥ et A

& 4?7

(1) 1835 ¢, AR (2) 1830 ¥., SiUR

(3) 1829 ¥., SR (4) 1832 ¥., arore

A } Hafa Taw i frer ¥ ¥ Rrg ad
TSEATR 74T or?

(1) 1893 (2) 1816

(3) 1856 " (4) 1888

T ¥ wER Ao st s g 7
(1) SR @) I

(3) ¥ (4) TR

1857 St Shifer & S v f fafer wraferat of?
(1) s )6

3)s ) 3

feres o ¥ s S ey % R 1027 #
T HY w0 @y ? ,

(1) FyEes gt (2) Eara

(3) SETATE WS (4) sfveTE |St
Frefafen ¥ ¥ whmr toram F e &

T few . viwT I3 wa afufr F wew
yIHE ar/9?

() ¥y T (i1) 7. Avafas
(i) 3R ¥ fagman

Fe-

(1) ¥ (i) (2) %34 (i)
(3) () T (i) @) (), (i) TS (iii)

TSI yde favmr grr et Bat oik seai &7
I forar srar §7

(1) 7% 369 [Sdem]
(2) w1t Sa [SrAqR]
(3) 32 Soue [drFeR]
© (4) T SoE [A19E o)
HAUST q¥ & IFTATT ITHT Farforerr -
1) (1), (3).(2), @) ) ). (1),(3), @
(3) (3, (1), 4. @) 3), (1), ), (@)
e Fra ¥ Famr i :
()7 (2) I
(3) a3 (4) oS

67. qafaa sfAe-

68

69.

70.

71.

7L.

T3

74.

(a) =8 T
(b) ToraTS T
(ORI
(d) =l T
wit %z P -
(1) (a)-iv,(b)-i1,(c)-1,(d)-iii
(2) (a)-i1,(b)-1,(c)-1,(d)-iv
(3) (a)-1,(b)-i1,{c)-i1i,(d)-1v
(4) (a)-i1,(b)-iii,(¢)-i,(d)-1v
wafera wfwe-

( #reh FEaT)
(1) TSt
(2) arasit
(3) T
(4) TSt
W’
(1) 141, 2-u1, 3-iii, 4-iv
(3) 1-iv, 2-i1, 3-1i1, 4~1

(i) Feeferm
(ii) &
(iif) T

(iv) I

(9 T )
(i) 99
(i) =4

(i) T,

(iv) 2=

() 1-ii, 2-ii, 3-iv, 4-i
(4) 1-ii, 2-i, 3-ii, 4-iv

e % faRm e o gear gt wing 12
(1) ¥irewarg] (2) =R
(3) g T (4) TS
G o E?
(1) feren deit (2) g =t It
(3) T et (4) 7 T3 i et
‘MR = day w2
(1) oAy FwhR - (2) s =R
(3) faar® =R (4) THEET SR
=rer, e, w2, SR & fa=r i
(1) =M (2) FTEn

- (3) S (4) St
e, sifear, i, smywor ugt s §2
) fmw (2) T W
(3) F i F @ R
o1 4 & = gk, S towarht wrarait
W wielfer v 3 frg o sy
(1) = <t (2) ~ief svamem fireds
GyS AT (4) =1, Errener R
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77.

78.
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80.

81.

@“ﬁgwﬁ (@) farorh

T e GEEE % W ¥ ety

e ¥7 T
(1) S VIR T Tiag qeeeg &
(ngﬁﬁﬁwmmmmﬁﬁm_

(3) ST HEW N TR F T e A

(4) 8 S ¥ P 2 )

Fretffaa =t gafem s o
FT ¥ ¥ W 39 g » AN Y

S -1
a. ﬁaam (i) RS
e (i) ferdre
c. MHER (i) TSI
d. TAvER (iV)Gﬂﬁh

(1) a<(ii). b{iid), c-(iv). d-(i)

(2) a<(ii), b(iii), c-(i), d-(iv)

(3) a={iii). b=(ii), c-(iv), d-(3)

(4) a~(ii). b(iv), c~(iii), d-(i)

TERTE TS T TEd ¥ Tl 1 et W sralt

# fie | i e 82

(1) §-Troreal St s <o 7 frsieft o fefet A T
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82

83.

84.

86.

87.
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89.
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. TR % Y & w § e F @ R g A

watfirs ww yraw o ¥7

(1) Wifee drarara v Eere a0

(2) fids et wg SRifee @

(3) Fersrron s wdl wfiea it

(4) 9 | =g TE

ey o | TroRaT U % R T T

WEQ FH afr o w82

(1) &t sy waEfean (2) 4t #fza

(3) 4t Eree <Ew (4) St FTHTEN B
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HTW(Character)WWW‘Iﬁm

T WA §7?

(1) &9 FiFT (2) FATFEFHIE FLRT
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I 7
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(4) wTe 1 faarcds
frorferfian & ¥ frw urg w1 Predor daet fRga
FqEE & IO fwar v wwar v?
(1) Al (2) Cu
(3) Ag (4) Au
frrafafas ¥ ¥ ® aradt 4?2
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